MATH 10 C-H
Worksheet — Factoring

Factor the following

a) 27m*n® — 18mn°

b) x% + 3x —40

¢) a?—-10a+21

d) y2—9y—22

e) 3x%+30x+ 72

Name:

h)

j)

6d® +d—2

15x% — 26x + 8

21x% 4+ 29x + 10

12m? —m-—6

—30x%45x +5



Math 10C-H
Extra Factoring Practice

1. 8x%y — 12x3y? + lex*y*

2. —6m3t* —18m?¢t°

3. x*—8x+12

4, m?+15m+ 44

5. r?—-49

6. 4m? — 81t?

7. 2x*—=5x-—7

8 B8x?—13x-6

9. 7x%¢+9x —10

10. 12p* — 27

&8

12.

13,

14.

15,

16.

1.

18.

19

4m® —-11m -3

m2 — 81

c? — 18cd + 80d?

4t* — 18t + 81

6x% — 5xy — 6y?

25x2 + 70x + 49

15 + 8k + k*

90z* + 7523

2yt —3y—2

20.5x% + 20
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MULTIPLYING AND FACTORING POLYNOMIALS NAME

MULTIPLY EACH POLYNOMIAL.

1.

11.

12

13.

14.

1.5.

16.

(X + 5)(x +4) =

(x-Nx-4)=

(x-4)(x+6)=

(x +9)(x - 8) =
(x - 12)(x +2) =
(x + 15)(x - 6) =

(x+7)(x+4)=

x+8x+9)=

(x-3)(x+7)=

(x +5)0x - 4) =

(x-35)(x+2)=

(x=3)* =

(x+14)° =

(o], I)% =

(3x+20)7=

(2x—15)? =

17. (x - 15)(x +15) =

18. (x + 8)(x - 8) =
19. (x - 7)(x +7) =

20. (x +5)(x - 5) =

FACTOR EACH POLYNOMIAL COMPLETELY.
21
22.
235
24.
25.
26.
27.
28.
29,
30.
31.
32,
33.
34.
35.
36.
37.
38.
39,

40.

55 B g e

X +12x+35. =

PAGE 1

P B 15 =

X +13x+42 =

¥ =16x+55 =

2 +5x—24 =

¥ =7x-30 =

x'—9x2 420 =
X =22x+105 =

X +12x+36 =

x*—24x+144 =

X’ +16x-36 =

XX —-6x~16 =

4x* +20x+25 =
25x* =30x+9 =

x*-16

x-64 =

3 =5 =

9x* —169 =

49x* —16y* =




MULTIPLYING AND FACTORING POLYNOMIALS PAGE 2

MULTIPLY EACH POLYNOMIAL.
FACTOR EACH POLYNOMIAL COMPLETELY.

41.3x(12x + 5) = 61. 2x" —5x-3 =
42.2x(x - 14) = 62. 2x* +3x-35 =
43. 5x(x* +5x+6) = 63. 8x% —40x+50 =
44. 3x + 1)(x - 8) = 64. 4x* +4x+1 =
45.(4x - 1)(2x +2) = 65. 6x* +17x+12 =
46. (3x + 5)(x - 6) = 66. 9x* —12x+4 =
47. (x + N)(2x +3) = 67. 2x2 —12x+18 =
48, @~ B8R *+ 3)= 68. 3x” —24x+45 =
49. (2x - 5)(2x + 7) = 69. 15x% —28x+5 =
50. (3x +2)(5x - 4) = 0. 3 £ 50
51..(6x - 1)x +2)= 71, 552 —205+15 =
52. (2x-3)" = 72, 2x% +7x+3 =
53. (4x+1)* = 73.. G —F 4S5 =
Sk, o) = oo = 74. 4-12x+9x% =
55. Bx+7)"= 75. 20+ 7x— 63" =
56. (5x-9)* = 76. 64x* 16 =

57. (3x - 5)(3x +3) = 77. x* +4x* +4 =
58. (5x - 8)(5x + 8) = 78. 3x* +9x* -12 =
59.(3x-T)(Bx+7) = 79. 2x* +9x* —18 =

60. (4x + 5)(3x - 8) = 80. 8x* —26xy+21y* =




MULTIPLYING AND FACTORING POLYNOMIALS NAME (/U/J/ PAGE 1

[

MULTIPLY EACH POLYNOMIAL. FACTOR EACH POLYNOMIAL COMPLETELY.

1, P ser6=_ {423 2 2)
< P 7

2. @ +12x+35 = (Wt 7) &4 m’)

23. X’ —8x+15 = ()L"*f)(x~.5>

R T G T - W ) =<\1+(ZQLL+ 7)

5. (x-12)(x+2)=_ - [0x-24 25. x*~16x+55 ZL\X‘S) (-)L“‘O

6. x+15)x-6)=_ X+ A% - 40 26. x* +5x - 24*(1%? L“— 3\

7. (x+7)(x+4)= \(,lPll‘i t 2% 27. x* =Tx=30 = (’L O)C)Ur 5)

8 @+ Be 9= W e VDU T g e gur g (1 ~S)( ™ Q\-f

| 53 1= )40 (k=)
9. x-5)x+7)=_)JL 2'+ AX - B 29. x* -22x+105 E?T f?)( X -«:f)

10, (x+5)x-H)=_ Y 4 L — 20

I, (x+5)x+4)= BLL;L Q)4 20

2. x-Dx-4=_ %= Iy +D

3, (x-Hlr+e)=_ Y 424 -2 Y

30. x? +12x+36 = Jwr(o)
TL. oif P A= (1 l))

5 . 2
2. (-3 = X =@%iH 32. * +16x-36 = | 1 J?)(‘l L\

11. (x-5)(x+2)= VLL— il 1D

13. (147 = L+ 2%e 196 33. %7 —6x-16 = (1 7)3( I+2.\

14, r=1DF =_ L — 2 b |2 34. 4x* +20x+25 = C?.)L “g)

15. Gx+20)'= I x5 1ot 40 35, 255> —30x+9 = S)L 3)

16. 2x-15) = YL =CIX + 225 36, x2—16 = (L L{ ()Lf L\

7 (k-1 sis= % = 1A% 3% o2 b5t = ()U 3)( X 3)

18 x+8)x-8)= X — (oY 38, x*-81 = (I C\)( %4 01)
19.x-Nx+N=__ L= U9 39. 9x% ~169 = (3 bL"H) &6, '3>

20 (x+5)(x-5)= Y= ALY

40. 49x* ~16)* = ?7 x #4a) (73 - ‘—{u\\
J ¥



MULTIPLYING AND FACTORING POLYNOMIALS

PAGE 2

MULTIPLY EACH POLYNOMIAL.

41.

4.
43.
44, 3x+ 1)x-8) = I =232~

45.04x - Dx+2)= B LT+ bl =2
46.
47.
48.
49. (2x-5)2x+ )= _HHi T+ Yr-35
50.
51.
5.

30

54.

33

56.

57.

58.

59,

FACTOR EACH POLYNOMIAL COMPLETELY.

Gx+5)x-6)= Y —131-30

x+7)Ex+3)= 2"t VDt A
x-8)ax+3=_{yx "= 29x - 24

R R e
Gx-1)Ox+2= g I -

x(12x+ 5)= 3(411; (g e GL.
x(x-14)=_ 2% 2 B3 62.
Sx(x* +5x+6) = f)’)(, e ﬂ’f)‘t"ﬁr D5 63,

64.
L6 +17x+12 = (er%)(ébur ?ﬂ
L 9x% —12x+44 =, (9)1 ?J

67.
68. 3
69.

70.

52 —20x+15 = S (0~ 5})@)&')

2x?—5x-3 -{QL +l1k—5\

st aie-gs= LARZT A &)

p
82 —40x+50 = 2L Ax-5)

M%%H:(£1+0L

23 ~12x+18 = 59\( o 9 ol

X2 24x+45 = 3(}f‘XY 1‘-5)

152728045 = (k| )Cﬁx—fj)

seseca= (3 =1 X #l)

71
; by . s .
@s-37=_4 " —12x} 9 madersid= fwndl ki 48 )
(4x+1)° = /G)LL% 5/1’“/ 73. 45> -—211+5—( Lh, EY)L ))
(Bx-1)? = Ay "= lX 1“/ 74. 4-12x+9x* éx ﬁ\)
= qyi-nx +"1

Gr+7t= x4 42 41 4.75. 20+ 7565

(5x-9)° = JITN ~C?Ox;+-8} 76.

Gx-5)0x+5=_ L = A5

5 _
(5x - 8)(5x +8)=_ 2T L — LY
9x - 4y9

%77,

78.

Bx-7CBx+7)= 79.

(e 30) C5- 20

64x7 —16 = /Q;/Q\x «f)C?JJ—/%

i +Axt 4= ()\. 1—9‘) ,r_

3t +9x7-12 = I 3L +Ll\ CX‘I)

= 3G e )OIk )

26 +9x" ~18F @y — I 1L+ &)

: X ( . : .
60. (4x +5)(3x - 8) = [L3. =l o= Lto 4s0. 8x% —26xy+21y* = (\Lhw 7:}\) CQ—X % 3‘:})



Name

Test1 CHAPTER3 Polynomials
MATHPOWER™ 10, Western Edition, pp. 94-143

Simplify. 11, (x4 4)x +9)

1. (5a — 3b) + (2a + b)

12, (m — 5Xm + 2)

2. (Bx+4y—2z) + (5x — y — 4z)

13: B~ A4 —35)

3. (4m—mn)— 2n — 3m)

14. (2k + 3)(5k — 4)

4, 23 —3x —4) — Gxt - 6x + 7)

15. (x + 7)°

5. (2a)(5b)(4c)

16: Or—5r

6. (4xyA)(—7xy)

17. (p+4)p - 4)

12x
7. -
byz
18. (4x + 5y)(4x — 5y)
63a°b’
8 ———
= Zab?
Expand and simplify.
19. 420 — 3b) + 5(—a - 4b) — 7(4a — 5b)
Expand.
9. 4a(2b — 30)

20. (x — 4227 — 6x + 3)

10. 3m2m? — 5m — 7)
21. (x+ 87+ Q2x—-7)Qx+7)

Copyripht © 1999 McGraw-Hill Ryerson Limited Chapter 3 63
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22,

By -5CQy —3) -2y + Hy + 1)

Factor completely.

23.

24,

25,

26.

27.

28.

4abx + 28acx

12mn —~ 6mn?

6x* — 21xy + 8xz — 28yz

1P+ 12x + 35

v~ 11y + 30

a? + 6ab — 40

64  Chapter 3

Name

29.

30.

31

32,

33.

34,

35.

4m’ — 20m — 24

6x* + 17x + 12

32 — 17y + 10
8h* — 10b — 7

4x* — 81

252 — 120y + 144

12k* — 27k

Copynight © 1999 McGraw-Hill Ryerson Limited
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Name

Test2 CHAPTER 3 Polynomials
MATHPOWER™ 10, Western Edition, pp. 94-143

Simplify. \ 24pg — 40p°g" + 16pq°
9. Evaluate
8pq

1. (P =-3x-7) -7 +5x -3+ @2 +x-9)
ifp=5andg=-3.

(16a'b%c)(—9ac") Factor completely.

—24a’b¢?
10.  16n*n? + 24mn® — 8ni?

Expand. 11. v - 23y =+ 112
3. —4ab(3z + 2b — 5¢)

12. 3a° + 39z — 90

&, 2lx — 5i(3% — 2}
13. 5y~ 124z - 92

5. 2x — 1)x + 4)3x — 2) 1
14. 9K + 3k + 1

2 2
Expand and simplify. 15. 36m* — 196n

6. 32y —5)4x+ 1) —2{x - 6)(2x — 3)

16. z'— Bl

7. (3x — 2y — (x — 4y)(x + 4y)
Factor by grouping.

17 3%z + 4z — 150~ 20§ ~ 22410

8. (14390 +4(g— 1)59*~ 29 — 3)

Copyright @ 1999 McGraw-Hill Ryerson Limited Chapter 3 65
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37. Gn 4+ 1) — 11)
38. not possible

39. (8y — 132)(8y + 13z)
40. 16y(x* — 5)

41. yes, (3a - 4)

42. yes, (2b+ 11)°

43. no

44. 3+ Ny + 3y — 3)
45, 45(a* + 2a + 5)

46, & + 2He— 2t~ 5)
Test 1

1. 7a - 2D

2. 8x + 3y — 62

3. 7m — 3n

4. =~3xr*% 3x = 1

5. 40abc

6. —28x%y°

7. 2x

8. —9%'b

9. 8ab — 12ac

10. 6m' — 15m* — 21m
11, x° 4+ 13x + 36

12, s — B — 10

13; 3y —=22y+ 35

14 10K+ 7k — 12

15. x* + 14x + 49

16. 4/ — 20r + 25

17. p* =16

18. 16x% — 251°

19. —25a + 3b

20, 2xF — 14x* + 27x — 12
21. 517+ 16x + 15

22, 4f-29% +7

23. dax{b + 7c)

24, 6mn(2m — n)

25. (2x — 7y)(3x + 4z)

~J
o

Chapter 3

26: ¥+ Fix + 5)
27. (y — 5)y — 6)
28. (a + 10D)(a — 4b)
29, 4(m — 6)m + 1)
30. (2x + 3)(3x + 4)
31. By —2)y — 5)
32. 2b+ 1)@db - 7)
33, @x = 90 )
3%, (8- 12)
35. 3k(2k — 3)(2k + 3)
Test 2
1. 3xF=7x—13
2. 6a*bc?
3. =120~ Bab® + 20abe
4, 63" — 34x + 20
5 6x*+ 17x* — 26x + 8
6. 201" — 24x — 51
7. 8x% — 12xy + 20y
8. 474 — g + 59 + 13
9. 24
10, 8mn*Qm? + 3 — 1)
1. (y - Dy — 16)
12. 3(a + 15)(@a — 2)
T3 154 + 32)(y —.32)
‘ ]‘12
14. (3k + EJJ
15. 4(3m — 7n)3m + 7n)
16 {x = 3)x + 3P+ 9)
17. (z — 5)3x + 4y — 2)

Copyright © 1999 McGraw-Hill Ryerson Limited

- - =



